	Table S1.  Effect of variation in the ratio of CPs/CPg on the Rw calculated by Eqn 7 expressed as 
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. Details of the method are given at the bottom of this table


	CPs/CPg=
	0.5
	1
	1.5
	0.5
	1.5

	W
	Calculated values of  Rw
	  Percentage deviations of Rw from those calculated with CPs/CPg=1

	0.1
	11.54
	11.27
	11.03
	
	2.37
	-2.16

	0.5
	10.60
	9.78
	9.19
	
	8.40
	-6.00

	1
	9.78
	8.75
	8.13
	
	11.73
	-7.04

	1.5
	9.19
	8.13
	7.57
	
	12.98
	-6.99

	2
	8.75
	7.72
	7.21
	
	13.29
	-6.65

	2.5
	8.41
	7.43
	6.97
	
	13.16
	-6.23

	3
	8.13
	7.21
	6.79
	
	12.82
	-5.83

	3.5
	7.91
	7.04
	6.66
	
	12.38
	-5.45

	4
	7.72
	6.90
	6.55
	
	11.90
	-5.10

	4.5
	7.57
	6.79
	6.46
	
	11.42
	-4.79

	5
	7.43
	6.70
	6.39
	
	10.95
	-4.51

	5.5
	7.31
	6.62
	6.34
	
	10.50
	-4.26

	6
	7.21
	6.55
	6.29
	
	10.08
	-4.03

	6.5
	7.12
	6.49
	6.24
	
	9.68
	-3.83

	7
	7.04
	6.44
	6.21
	
	9.30
	-3.64

	7.5
	6.97
	6.39
	6.17
	
	8.95
	-3.47

	8
	6.90
	6.35
	6.14
	
	8.62
	-3.31

	8.5
	6.84
	6.32
	6.12
	
	8.31
	-3.17

	9
	6.79
	6.29
	6.09
	
	8.02
	-3.04

	9.5
	6.74
	6.26
	6.07
	
	7.75
	-2.92

	10
	6.70
	6.23
	6.06
	
	7.49
	-2.81

	10.5
	6.66
	6.21
	6.04
	
	7.25
	-2.71

	11
	6.62
	6.18
	6.02
	
	7.02
	-2.61

	11.5
	6.58
	6.16
	6.01
	
	6.81
	-2.52

	12
	6.55
	6.14
	5.99
	
	6.61
	-2.44

	12.5
	6.52
	6.13
	5.98
	
	6.42
	-2.36

	13
	6.49
	6.11
	5.97
	
	6.24
	-2.28

	13.5
	6.46
	6.09
	5.96
	
	6.07
	-2.21

	14
	6.44
	6.08
	5.95
	
	5.91
	-2.15

	14.5
	6.42
	6.07
	5.94
	
	5.76
	-2.09

	15
	6.39
	6.06
	5.93
	
	5.61
	-2.03

	15.5
	6.37
	6.04
	5.92
	
	5.47
	-1.97

	16
	6.35
	6.03
	5.92
	
	5.34
	-1.92

	16.5
	6.34
	6.02
	5.91
	
	5.21
	-1.87

	17
	6.32
	6.01
	5.90
	
	5.09
	-1.83

	17.5
	6.30
	6.00
	5.90
	
	4.98
	-1.78

	18
	6.29
	5.99
	5.89
	
	4.87
	-1.74

	18.5
	6.27
	5.99
	5.88
	
	4.76
	-1.70

	19
	6.26
	5.98
	5.88
	
	4.66
	-1.66

	19.5
	6.24
	5.97
	5.87
	
	4.56
	-1.62

	20
	6.23
	5.96
	5.87
	
	4.47
	-1.59

	Average 
	7.19
	6.66
	6.43
	
	7.88
	-3.32


To determine the sensitivity of Rw to changes in the ratio  CPs/CPg ,  different values of the ratio were substituted in eqn 7; Ws and Wg were calculated from eqns 4 and 5, with values of K1, Rg, and Rs equal to 1 Mg ha-1, 11.83, and 5.57 respectively as these were found to be the best average estimates for a range of crops (see Results.section 3). 
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